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3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Bookle},
you have to fill in some particulars in the Answer-Sheet as per instructions sent o you in the Admit
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4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
Answer-Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Admit
Card and in the Answer-Sheet.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer.

] :
6. There will be negative marking for wrong answers. — mark will be deducted for each wrong
answer.

7. There are blank pages at the end of this Booklet for Rough Work.

8. The Special Answer-Sheet should be handed over to the Invigilator before leaving the Examination
Hall. You are permitted to take away the used Test Booklet after completion of the examination.
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1. Use the right preposition. 5. The idiomatic expression ‘pull yourself

He deals _____ cosmetic goods. together’—
(A) of (A) drag oncself
_4B7 with (B) help onc
| (C) 1n (C) getangry
(D) on (D) calm down by oneself

2. Which complex form i1s correct for the
following sentence?

‘Everyone is happy during Christmas 6. Use the correct expression :
celebration.’ 1 the patient will die.
(A) When Christmas celebrations occur (A) hope
everyone 1s happy. | __4B) sHink
(B) During .Christmas celebration (C) see
everyone 1s happy. (D) am afraid

(C) Everyone during Christmas
celebration is happy.

(D) Happy is everyone when Christmas
celebration occurred.

7. We our dinner last night.

_ Fill in the blank with the right verb form.
3. Select the correct option :
(A) have taken

I need a note. /(vﬁ"))fook

(A) five hundred rupees | 5 =
3 C) ‘had tak
—~(B) five-hundred rupee AR 4¢ aken, 7/

(C) five hundreds rupees (D) take
(D) five hundreds rupee
4. It is nine o’clock in Darjeeling In the 8. Never_____uponthe marginalized. Fill in
morning and . with the right phrasal verb.
(A) there i1s snow (A) look over
(B) itis snowing 0 (B) look down
(C) it snows (C) look through

(D) it snowed (D) look into




9. The word ‘Genocide’ means

Racial killing O
(B) Murder
(C) Suicidev&
(D) Slaughter

10. What 1s the time _____ your watch?

/eﬁ by
(B) in
(C) with

11. Select the correct option:

[ was sure I meet him.-

&Y would

(B) will
(C) shall

ﬂ should

12. ‘Impassioned’ means
(A) Ardent
(B) Dispassionate
(®) Passionléss
(D) Unemotional

13. Find the appropriate synonym for the word

‘Climactic’.

(A) Culminating
(B) Climatic

(C) Temperate
(D) Atmospheric
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14. Choose the correct indirect statement.
He said, “grass is g‘}een."
A&7 He told that grass is green.
(B) He told that grass was green.
(C) He told that grass had been green.

(D) He told that grass will always be
green.

15. Correct passive form of the following
sentence ‘Orange tastes sour’ 1S :

(A) Orange is tasted sour.
(B) Orange is sour after tasting.

_—(C) Orange is sour when tasted .
_,r————-—_——m'
(D) Orange 1s tasted as sour.

16. Babies ____ when they are hungry.
(A) cries
(B) cned
(C) are crying

Py Try

17. The word ‘Analogous’ means
(A) analytical
(B) artificial
(C) comparable
(D) aural

pPlease Turn Over
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/8. Tick the correct option:

(A) Daughter-in-laws
(B) Daughters-in-laws
(C) Daughters-in-law o
(D) Daughter-in-law

19. Add a suitable prefix to ‘Embark’.
(A) Disembark
(B) Unembark
(C) Imembark
(D) Inembark

20. Fill in the blank with right option.
He cannot cope this pressure.
(A) up
(B) with
(C) 1n
(D) for

21. Convert the given sentence into an
interrogative sentence and see below for the correct

option :
““Honesty 1s the best policy”
(A) Is honesty the best policy?
(B) Is not honesty the best policy?
€) Is honesty not the best policy? ©

(D) Why 18 honesty the best policy?
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are still tortured in remote villages.

22. The correct antonym of ‘Lecherous’ 1s
(A) Passionate
(B) Dirty
(C) Nasty
(D) Chaste

23. Use the appropriate preposition in the
sentence :

Wesat __ the shade of the tree.
,@M) under

(B), below
Xg) in

(D) through

24. He will reach home _ at evening.
(A) lately
~(B) late ©
(C) later
(D) latest

25. Hesolvedthe ____ problem.
(A) hardly
(B) hard
(C) hardlier
D) hardliest =
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What is the name of the Lake between
Gcif:;vari and Knshna deltaic region? ?ﬂ; % ?Cm ° THR ?T—%‘\I'C‘Fﬁ N Wi
(A) Kolleru Lake (A) FEF T
(B) Pulicat Lake (B) S 70
(C) Chilika Lake (C) B z .
(D) Loktak Lake
(D) e Zn
27. The largest producer of milk in the world is 27. f_ IZGH VY CRAME Zo
(A) India (A) SIS
(B) USA (B) W= @G ©
(C) China | () o
(D) Australia D) .
28. NATGRID will start by 28. ‘NATGRID’ &< T
(A) 31st December 2020 (A) 314 femza 2020-99 S04
(B) 31st December 2019 (B) 314 ®ra 2019-97 T
(C) 31st March 2020 (C) 31¢< 6 2020-93 WG

August 2020
(D) 15th Augus (D) 15% S5FB 2020-97 TG

29. The Constitution of India was adopted by 20 Siqred 7y sﬁﬂ@ LIRS
(A) Indian National Congress (A) CITEI TR FAA
(B) Indian League (B) Zfsam &4
(C) Indian Constituent Assembly Yy C'r N S
(D) None of the above (D) TR IR 7
| 30. The English established their first factory 30. 2UEEA ©HE© @AW SImd 2449 TE
'n India at (F3) fsfict Tt 2
(A) Bombay (A) @THE
(B) Surat By a3
(C) Sutanuti () W
(D) Madras
(D) Q4T

Please Turn QOver
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31. Ais C’s son. C and Q are sisters. Z is Q’s 31. AZS C-silﬂ @1 C 9R Q12 @FIZ %=
mother. P is son of Z. How is P related to A? Q-93 |p-q<.-1 Z-&ﬁ@ﬁ | A8 P-a9 T4 FA>E <
(A) Brother (A) ©f% ¢
(B) Maternal uncle _ —
(C) Uncle
(D) Grandfather £ Vi
(D) "y,
32. What was the Act 111, 18727 32. <3 111, 1872 9 fee ¢
(A) Social Reform Act (A) TS S 3
(B) Jury Act (B) Eﬁ'f iz
(C) Revenue Act
(D) Executive Act | (C) e AR
(D) PTG SiEA
33. Find the odd one out: 33, S @FD SHEH (AT ST 2
(A) Zoology (A) Zoology
(B) Physiology (B) Physiology
(C) Botany (C) Botany
(D) Philosophy ' APy Phiiosophy
34. Who founded the Anglo-Vedic college? 34, (T EA-SHT IETE ATV FCATRE 2
(A) Dayanand Saraswati (A) WIS AqTe! O
(B) Lala Hansra) /(«B)/FHET AN
(C) Atmaram Pandurang (C) ST AGIR
(D) Mahadev Govind Ranade (D) TR (AN FAC
35. First Indian product to get G.I Tag is 35. SIS &AW ‘G.I Tag’ &t *[mIY =&
(A) Cardamom (A) =5
(B) Darjeeling Tea _ABy iR B
(C) Basmati (C) TS 51

(D) Gobindo Bhog (D) cnf~ceist 51




36. Numbers are placed in the figure below on
the basis of some rules. Find the correct alternative
to replace the question mark.

151 9]14] 20
ol17][27] 7
(A) 35
(B) 37
(C) 39
(D) 41

37. Literacy rate in West Bengal census 2011 —
(A) 97%
(B) 70%
(C) 80%
(D) 77%

38, Which tribal language has been given
official status in West Bengal and regarded

endangered by UNESCQO?
(A) Santali language
(B) Kurukh language
(C) Kurmali language
(D) Sadri language

39. When Indian Rupee gets depreciated
vis-3-vis U.S. dollar, it usually makes our

(A) Exports Cheaper and Imports Costlier
(B) Imports Cheaper and Exports Costlier
(C) Both Exports and Imports Costlier
(D) No effect on Exports and Imports

40. Sir C. V. Raman was awarded Nobel Prnize
forhis work connected with which of the following
Phenomenon of radiation?

(A) Scattering

(B) Diffraction
(C) Interference
(D) Polanzation
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36. @b Fe v G e R AAnefa
aﬁmml‘?’fﬁfﬁwﬂéﬁﬂwﬂﬁwm?

4 ) 519 14 [20] =743
. 9 |17 [27 | ?
A
(A) 35
(B) 37,
/ee);{';ﬂ
(D) 41

37. Census 2011-9 /654 literacy rate &
(A) 97%
(B) 70%
(C) 80%

D) T1%

38. (@ SIS S Afsaac Aqa wdml
eTl TEm b3 UNESCO-2 @l flem e
e zmm e

_{Ay-Santalieg O
(B) Kurukh @3] —
(C) Kurmal ©1F] ===
(D) Sadn <

39, ST DA TAH G Tl G
depreciate $(9 T
(A) ST AN TR @ Samil=a v AT
(B) SWifel 7o @ e wie s
(C) wrmifH @ I 1298 v A0S
(D) Grmife @ IV T (I LR TS Al

40. 713 5. fS. 999 Nobel 27=@ i@
it = o9 T 2
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41. ‘Neel-Darpan’ by Dina Bandhu Mitra
portrays the plight of

(A) Bengali Artisans
(B) Indigo Planters
(C) Landless Labourers
(D) All of them

42. Theletters L, M,N,O,P,Q,R,Sand T in
their order are substituted by nine integers 1 to 9
but not in that order. 4 is assigned to P. The
difference between P and T is 5. The difference

between N and T is 3. What is the integer assigned
to N?

(A) 7
(B) 5
(C) 4
(D) 6

43. Who was elected as President of the All
India Khilafat Conference (23rd November, 1919)?

(A) Mahatma Gandhi
(B) Subhaschandra Bose
(C) Chittaranjan Das
(D) Motilal Nehru

44. A caterpillar crawls up a pole 75 1nches
high, starting from the ground. Each day it crawls
up S inches and each night it slides down 4 inches.
When will it first reach the top of the pole?

(A) The 70th day
(B) The 71st day
(C) The 72nd day
(D) The 75th day

45. Who authored ‘The Spirit of Islam®?
(A) Abdul Wahab
(B) Theodore Beck
(C) Sayyid Amir Ali
(D) Mohsin ul-Mulk

B-8

41, Ry @ afoe Sie wel’ a0y @ cfe
@vq fNAretTa a1 SR ?
(A) IR FQ9
Cms O
(C) gh=I T
(D) S afeld afdaR

o .
42. L,M,N,0,P,Q,R, S @3 T er=agie g9

g | O3 wrrasi=a «fFars 1 (I 9 Jsis &2
7o | &8 G2%fF 29 78 1 AT PZA 4 1P ¢ T-92
SHE1 271 5 1N 6 T2 o114/ 251 3 | SR N-47
(I ARG 4= ZECR 2

(A) 7

(B) 5

(C) 4

(D) 6

43. EALsFe RerTe JrT==a (2331 S T4,
1919 f23) Fe1eife f<ioe zafere 2

AR) TER S
(B) Telav®m 9797
(C) beaga v
(D) Tfess @z

44, G0 SCETARR TG (AT 75 inches Ty @
6 (08 ©ot= | M @ @7 5 inches B @
Q1T AT (=T 4 inches T T T | OIZE A
[0 TR FAq T (A=A ?

(A) 709 fatd
(B) 71 <% WA
(C) 729 W
_ADY 75 %9 faeA

45. (& ‘Fif3% < T’ femaiRtEa 7
(A) HIRYE STZA
(B) &TuIeR @
(C) W =R =
(D) T2pH TH-Fe
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46. International Day ofthe Tropics isobserved 46. International Day of the Tropics &f® 3%
every year on AT T
(B) 4th July | (B) 451 &
(C) 22nd September
(C) 220 b3
(D) 26th June
(D) 260 g4
47. In which Act yearly Rs. 1 lakh was allotted 47. @ERE ey e g e
for the education of Indians? OTF DI I3 41 T 2
(A) 1813 Charter Renewal Act 1813 A1 S oo aieael iz
(B) 1773 Regulating Act (B) 1773 R5BI0oa (QuTeiig Sz
(C) 1784 Pitt’s India Act (C) 1784 51z 215 Sig® wiize
(D) 1833 Charter Renewal Act (D) 1833 R551ara 577 e aead iz
48. Somasila Dam is located in which Indian 48. G Y ST (@19 AT ST ?
(A) Madhya Pradesh (B) =<5
tak
(B) Karnataka (C) S
(C) Andhra Pradesh 5
(D) Maharashtra (D) =My
49, Who founded the Khuda-i-Khidmatgar 49. cam-3-FRvesa vEr afewret & feem 2
party? (A) SR I
(A) Abbas Taybj1 /(B)"' I A T A
Eg Elhat;. Ab(j;ll ((?;affar Khan ©) ’
aulana Aza ‘C“ Tefl ST
©e ;
(D) Dr. Ansari (D) & s
50. How many Indian States have touched the 50. SIS (0 AEA A AFoaasics =l
border of West Bengal? IR ?
(A) 4 (A) 4
(B) 6 (B) 6
(C) 5 (@5
(D) 3 (D) 3

Please Turn Over
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51. Who was known as the creator of modemn
Hindi literature?
(A) Lalluj Lal
(B) Padmakar Bhatta
(C) Premchand
(D) Harishchandra

52. When was the Madras State officially
renamed as Tamil Nadu?

“(A) 14 January, 1969
(B) 4 December, 1969
(C) 27 January, 1969
(D) 16 August, 1969

53. The smallest composite number 1S
(A) 1
(B) 2
(C) 4
(D) 3

54. In which year West Dinajpur district of
West Bengal was divided into two districts namely
North Dinajpur and South Dinajpur?

(A) 1991
(B) 1990
(C) 1992
(D) 1994

55. Below given are certain statements about a
river: |
1. It nnses on Ranchi plateau in Jharkhand.

2. It passes through the northern part of Betla
National Park.

3. Itis a tnbutary of Son River.

Identify the river based on the information given
above:

(A) North Koel River
(B) Mechi River

(C) Mahananda River
(D) Mahadayi River

51. wyfes & M0 8! (& felem ?
(A) =gt e

(B) W@_
(C) (AI5M
(D) :ﬁ*m v,

52. T4 UG A’ GRS Ol
AR s o1 50 2
(A) 14 G, 1969
(B) 4 199, 1969
(C) 27 GIgHIfa, 1969

(D) 16 =151, 1969

53. uow Hefed WA =
(A) 1
(B) 2
LT3 o
(D) 3

54. (@M A APvwrraa «fsw Maree@ e
S famraea @ v frareee s it e Rew
AR? |

(A) 1991
(B) 1990
(C) 1992
(D) 1994

55, A 3 T s [fne R3S crem == ¢

1. @57 FreNed i TEASHITS T |
2. Uit QT TIeT THIE TEEE St i

21fZe 2|
3. @it @3l e g = 7 |

TR wfefars Failt Bize 3%
(A) Oaq @iEe wn O
(B) fo =l
(C) == 7t
(D) T w7l




6. Boghazkoi is important because

(A) itisknownassignificanttrading centre
between Central Asia and Tibet.

B-11

(B) the orniginal text of the Vedas was

composed there.

(C) inscription found here mention the
names of Vedic Gods and Goddesses.

(D) None of the above

§7. Who among the following built the Alai
Darwaza’
(A) Alauddin Khilji
(B) Akbar
(C) Muhammad bin Tughlaq
(D) Jahangir |

58. DistallerthanCandE. Aisnotastall asE.
Cistaller than A. D is not as tall as B. Then, who
Is the 2nd tallest person?

(A) B
(B) C
(C) D
(D) E

59. Identify the correct pairs for Northern
Hemisphere.

1. Winter Solstice — December 22nd

2. Autumn Equinox — September 23rd

3. Summer Solstice — June 21st

4. Spring Equinox — March 21st

Choose the correct answer from the given code:

(A) 1and 2
(B) 2and 3
(C) 3and 4
(D) All are correctly matched

P E
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56. QISR GFGo-<rad,
(A) @2 Trshi sy af<m @ feRrea sy
gl Arfdfers i f2e |

(B) w3z Afze) @A-E 2ive |

(C) O 21 (FLTEA-T (AW (TRI-GATIA
1% Sfafde itz |

(D) THAIT CETAIDL T

57. FEIEma g e vReTE-3 el (32
(o i ferd ©
(B) =39

(C) TxM A T
(D) TR

58. D,C S E-93 G &4l | A, E-43 TS 7771 77 |
C, A-92 (G ! | D, B-97 @ o791 71 | OIS, faeid
THTH ANEL (B2

(A) B
(B) C
AC) D

(D) E

59. TEA (SIIER T ASS (SUsfe = I ¢
1. W& AT® — forEd 22nd
2. TERYE — (6% 23rd
_3. 0 ATIfE — T 21st

4. TREI — W6 21st

2G (IS (A AT Taab oo T ¢
(A) 1932
(B) 29333 ©
(C) 394

S H
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60. Rank of West Bengal in India with | 60, (N0 SAYE fefard IS 2011 census-<
reference to total population, vide 2011 census oS ZH &

report 1S (A) 7
(A) Tenth
ref O
(B) Fourth (B) WQ{
(C) Second (C) faem
(D) Fifth (D) A

61. Which Indian mass movement began with 61. (7 SITe ST T shifeg R
the famous ‘Dandi March’ of Mahatma Gandhi? TS M@’ M &F W9

(A) Khilafat movement (A) Rerss s=em
(B) Non-Co-operation movement (B) SIS I

AT G I ST
(D) ©I<® RITE! HItHTe

(C) Civil Disobedience movement
(D) Quit India movement

62. Letx,,x,,______,x;,be 100 numbers such 62. 4 x,, X, , X100—100 15 271 TME
lhatx!. +x,,,=100foralli. If x,;= 1, then the value 7 -4 G x, + x,,, = 100 TH % x,, = 1 W, TR
of x, 1s x, I T

(A) 100 (A) 100
(B) 99 (B) 99
(C) 101 (©) 101
(D) 1 (D) 1
63. Bikaner Canal is taken off from the river 63. fRITT 1 @I 7} (A OF TAR?
(A) Banas (A) TN
(B) Chambal (B) 5%
(C) Satly &C)/“W
(D) Yamuna (D) T
64. The severe cyclonic storm that struck West 64. 2019-9 AR5 @ €T YIS TR TR AT
Bengal in 2019 was . L5
(A) Fani ~—A&) Fani
(B) Bulbul (B) Bulbul
(C) Phinge (C) Phinge

(D) Sumi (D) Sumi




65. Inaparticularmonth of someyear, thereare
three Mondays which have even dates. On which
day of the week does the 15th of that month fall?

(A) Monday
(B) Wednesday
(C) Friday

(D) Sunday

66. Teachers’ Day is observed every year in
India on

(A) September, 5
(B) October, 2

(C) November, 6
(D) December, 25

67. ‘Indian Constitution’ is adopted by the
Constituent Assembly on

(A) 15th August, 1947
(B) 26th January, 1950
(C) 26th November, 1949
(D) 2nd October, 1950

68. Which among the following was the single
biggest item of import to the Vijayanagar empire?

(A) Pearl

(B) Precious stones
(C) Horses

(D) Silk

69. The ‘FACT Check Module’ aims to

(A) control activities of disruption by
opposition political parties.
(B) regulate the economy.

(C) promote harmony in multicultural
society.

(D) protect the Indian Government from
fake news.
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65. I ARAY @O fWfve T [ewil eieze
I (EE A2 | & R 15 ©ifF ) A0 AT P

(A) GrTRE A

(B) Q419

(C) “TRR
_~D) 3RO

66. ‘=g 3w oS of IR AT @
AK) 5% G049
(B) 231 3RS
(C) 6% 7eT
(D) 250« fer1%a

67. Constituent Assembly “SIFeq 4w’ 52
TR

(A) 153 15155, 1947
(B) 26¢¢ ST, 1950

ey 260¢ reHd, 1949
(D) 291 S, 1950

68. fferfee sqeferm g @@l IR
SIS A 2R Remeee wiees o 207

OV

(B) UM A1
(C) =™

(D) IS

69. ‘FACT Check Module’-a9 &% T
(A) Reaid arafess veafera ot e
e el TS | '
(B) wdifers farmet w11
(C) smiree fafky wwgfen Wy A2
TeAfze A |

(D) ©ITS FAITACE ey 439 (IF el
AT |

Please Turn Over
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70. Who wrote ‘Rajatarangini’? 70. ATSIHAN-T IOC! (F?
(A) Megasthenes (A) @anfzA
(B) Kalhana /(-B‘)"%W
(C) Al-beruni . | (C) W'ﬁﬁsﬁ
(D) Herodotus (D) CRRNTSTIH
71. ‘Economic Reform’ measures in India was 71. ©igte wdAafes wmR’ Afesfd g9k
formally introduced in GHIFESIE (formally) Sorzifere =
(A) July, 1991 (A) TEIR, 1991
(B) August, 1947 (B) ®I5P5, 1947 &
(C) January, 1980 (C) &R, 1980
(D) March, 1990 (D) €. 1990
72. InwhichyearwasIndia’s firstcottontextile 72. IEFCT IR ﬂﬁ_@ SRMET AU Eﬂ‘?]?[
industry set up in Ghusuri near Kolkata? T Pl 3R Zifsie =ae |
(B) 1821 (B) 1821
(C) 1819 (C) 1819
(D) 1823 (D) 1823

73. Which among the following great 73. BRAN SFMNT I’ o fasfaiae
revolutionaries was the brain behind the ‘Chittagong Raditra g T2 IRes Alry 2 e

Armoury Raid’? (A)' N (g
(A) Ganesh Ghosh (B) SHOME HISIT

B) Ch
(B) andrasekhar Azad /(C)// s
(C) Surya Sen (D) =
(D) Lala Hardayal o
74. Demonitisation of Rs. 500 and Rs. 1000 74. 500 8 1000 5113 15 ifea (aifEs T

currency notes was announced on

(A) 8th November 2016 o "
(B) I1st January, 2017 (B) G,

(C) 15th August, 2016 (C) 153:7:0‘, 2016
(D) 31st March, 2017 (D) 31¢= =15, 2017

(A) 8% wrewg, 2016




75. The first non-Congress government at the
Center was led by

(A) Joy Prakash Narayan

(B) Morarji Desai

(C) Chaudhury Charan Singh
(D) Atal Behari Vajpayee

76. The present Finance Minister of India —
(A) Arun Jaitley
(B) Nirmala Sitaraman
(C) P. Chidambaram
(D) Pranab Mukherjee

77. Identify the vector quantity from the
following:

(A) Heat
(B) Angular momentum
(C) Time
(D) Work

78. Which among the following places has given

the earliest evidence of agriculture in Indian
Subcontinent?

(A) Pratapgarh
(B) Mehergarh
(C) Quetta
(D) Kalat

79. The Supreme Court of India upheld that
RTI was applicable to the

(A) Office of the CBI also.
(B) Office of the NIA also.
(C) Office of the CJI also.
(D) Office of the PMO also.
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75. (ITF AU G-FLH AT
(A) SHLATH AL

(PR 1

(D) Wﬁﬁ?ﬂﬂﬁ%

76. IS SHATS FLTT =
(A) E (GOl

ABY Tt Brerarm
(C) 171 ovraa=

(D) R UG

77. Erefife afofm T o3 20 25 —

78. fAsfafie el Sy @m @a@u
SoANRITI Abiew R e G

(A) TS
< ‘,TG
(C) 1Tt

(D) wn%

79. TRV AN G SEHRTA RTI 20!

(A) Office of the CBI (¢¢ o

(B) Office of the NIA (¢@
(C) Office of the CJI (€8
(D) Oftfice of the PMO (¥€
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80. Light from the sun reaches us in nearly

(A) 2 minutes
(B) 8 minutes
(C) 4 minutes
(D) 16 muinutes

81. Fit India Movement, launched in August
2019 by

(A) Kapil Dev
(B) Sourav Ganguly
(C) Narendra Modi (Prime Minister)

(D) Virat Kohli

82. John, Aries, and Joseph are brothers with
different ages. Given that:

(1) Anies is the oldest.
(ii) Joseph is not the oldest.
(iii) John is not the youngest.
Who is the youngest?
(A) Aries
(B) John -
(C) Joseph

(D) Cannot be determined from the given
information

83. The slogan ‘Garibi Hatao’ is coined by
(A) Indira Gandhi
(B) Rajiv Gandhi
(C) Sonia Gandhi
(D) Rahul Gandhi

84. Kiru Hydroelectric power projectis situated
in
(A) Telangana
(B) Kerala
(C) Jammu and Kashxﬁir
(D) Andhra Pradesh
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80. 7 (AT T SR L (ATRCS H2 7
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_(B)~ 8 0
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81. ‘Fit India Movement’ August 2019-9 U
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85. Nationalisation of 14 Commercial Banks
took place in

(A) 1969
(B) 1980
(C) 1971
(D) 1991

86. Who established the Atomic Energy

Commission (AEC) of India in 19487
(A) P.K. Iyengar
(B) M.R. Srinivasan
(C) Vikram Sarabhai
(D) Homi Bhabha

87. Fill in the word grid with the words listed.
Which word won’t fit?

FATE, FLAT, FORT, ROLE, TILL

(A) FATE
(B) FLAT
(C) ROLE
(D) TILL

88. Nuclearsizes are expressed inaunitnamed
(A) Fermi
(B) Angstrom
(C) Newton
(D) Tesla
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89. National Institute of Disaster Management
or NIDM was previously named as:

(A) National Centre of Disaster
Management

(B) National Council of Disaster
Management

(C) National Committee for Disaster
Management

(D) National Task Force on Disaster
Management

90. In which Congress the demand for ‘Purna
Swara)’ was placed?

(A) Lahore Congress
(B) Surat Congress

(C) Calcutta Congress
(D) Nagpur Congress

91. Who among the following historians has

written the book entitled ‘The wonder that was
India’?

(A) A.L.Basham

(B) Alison Bashford

(C) R.C.Majumder
" (D) Satish Chandra

92. Two positions of a dice are shown. Find the
number of the dots on the face opposite the face
bearing 3 dots.

R I =D
s [
(A) 1
(B) 2

(C) 4
(D) 5
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89. National Institute of Disaster Managemen
31 NIDM g s foe ¢

(A) National Centre of Disaster
Management

(B) National Council of Disaster
Management

(C) National Committee for Disaster
Management

(D) National Task Force on Disaster
‘Management
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93. Graphite, carbon and diamonds are
(A) 1sotopes
(B) 1somers
(C) 1sotones
(D) allotropes

9. Why did Rabindranath Tagore refuse

Knighthood?
(A) Duc to partition of Bengal
(B) InprotestoflJallianwalabaghmassacre

(C) Withdrawal of non-cooperation
movement

(D) In protest of Alipur conspiracy case

95. India celebrated /will celebrate its 70th
Constitution Day 1n

(A) 2020
(B) 2018
(C) 2017
(D) 2019

96. Samvidhan Divas or Constitution Day 1s
celebrated in India on
(A) 3rd December
(B) 25th October
(C) Sth January
(D) 26th November

97. *‘Non-performing Assets’ (NPA) of Indian
Commercial Banks are
(A) Buildings and Land
(B) Loans not rapaid within stipulated
lime
(C) Government secunties
(D) Cash holding

BPC/20

94, (T IJHAIY IFA FZG' ToAlY AT

PG TR,

(A) TEAeaEe et
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98. The Governor of West Bengal is
(A) Nurul Hasan
(B) Raj Narayan Singh
(C) Keshari Nath Tripathi
(D) Jagdeep Dhankar

99, What were the two assemblies during the
early vedic period?

(A) Samiti

(B) Sabha

(C) Samiti and Sangam
(D) Both (A) and (B)

100. Literal meaning of ‘Lokpal’ 1s
(A) Caretaker of the people
(B) Execution of public services

(C) Looking after the Weaker section of
society

(D) Motivate civilians

101. Which city in Gujarat is widely known as
ship breaking yard?

(A) Okha
(B) Alang
(C) Kandla
(D) Veraval

102. Who wrote ‘The

Independence’?
(A) Dadabhai Naoroji
(B) Romesh Chunder Dutt
(C) Vinayak Damodar Sabharkar
(D) Harish Chandra Mukhopadhyay

Indian war of
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98. SfFouaTHa ST
(A) =1 P
(B) e i
(C) @<y fasiiel
AD) T GG

99, wift ¥ (e o @ o efefieg
AR T A6 A2
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D) Te1Z (A) ¢ (B)

100, ‘Lokpal’ €3 &5faas wid
Caretaker of the people ©
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(C) Looking after the Weaker section of
society
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(©) T ©
(D) @I
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(&7
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103. What is the meaning of ‘Ghadar’?
(A) Revolt

(B) Independence
(C) Swara)
(D) Liberation

104. The scale used for measuring the intensity
of the earthquake 18

(A) Metric scale
(B) Quake scale
(C) Richter scale
(D) Epicenter scale

105. Which among the following Viceroys was
associated with the ‘llbert Bill Controversy’?

(A) Lord Curzon
(B) Lord Lytton
(C) Lord Ripon
(D) Lord Hardinge

106. The Human Development Index (HDI) 1s
published by the

(A) World bank
(B) UNDP

(C) IMF

(D) NITI Aayog

107, 216%°~ (pz /9)_31'2 =2%3¥ p®, the values of
%Y, z are

(A) x=2,y=-1,z =3

B) x=-1,y=2,z2=3

(C) x=3,y=-1,2=2

D) x=2,y=3, z =-1
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(A) RaR o
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(A) &TE FrEie
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108. What number should come next in the
sequence 6, 11, 21, 36, 56, ___ ?

(A) 78
(B) 81
(C) 82
(D) 86

109. In which newspaper ‘Boycott’ was first
declared?

(A) Sanjiboni
(B) Hitawadi
(C) Yugantar
(D) Amnta Bazar

110. Chumbi Valley is on boundary of
(A) Sikkim - Bhutan
(B) Nepal — Sikkim
(C) Bihar ~ Nepal
(D) Assam - Bangladesh

111. In 2006 NIDM was established. Which one
of the following is correct?

(A) False

(B) True

(C) By the Ministry of Human Resource
(D) By the External Affairs Ministry

112. Inwriting the numbers from 10to 100, how
many times is the digit 7 used?

(A) 20
(B) 19
(C) 10
(D) 11

108. 6, 11, 21, 36, 56, _

GIASE (Pl A R ?

(A) 78

BT 81

(C) 82
(D) 86

110. pf¥ SATA (iq FACE TR ?
A R - o
(B) @& — Ffewt
(C) Rge - @i
(D) ST — QI

111. NIDM 45 zrafeel 2006-41 Awa &=
AT

(A) §

(B) fow

(C) |HI ™ &S 7
(D) Ao 95 2

112. 10 (A& 100 1T (5t 7 sapfD T4
SISECEACE
(A) 20
(B) 19
(C) 10
—D) 11
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113. When was the first battle of Tarain fought?
(A) 1175 A.D.

_AB) 1191 AD.

(C) 1192 A.D.
(D) 1206 A.D.

114. Potassium penhanganate 1s used to purify
water as it is

(A) sterilizing

(B) oxidizing

(C) reducing

(D) leaching

115. India made typhoid vaccine, approved by
WHO was first introduced 1n the country

(A) Nepal

(B) Bangladesh
(C) Mayanmar
(D) Pakistan

.116. Goods and Services Tax (GST) was
Introduced in India by Finance Minister

(A) Arun Jaitley

(B) Manmohan Singh
(C) Pranab Mukherjee
(D) Narendra Modi

117. The 100 Rupee Currency Note in India is
SIigned by

(A) Govemor, Reserve Bank of India
(B) Secretary, Ministry of Finance
(C) Finance Minister of India

(D) Pnme Minister of India
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113. (3 AN ORI AT T7 ALNDE T ?
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~B) 1191 R
(C) 1192 fIor=
(D) 1206 &5
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(A) GRIqTEF
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118. Who was the founder of the Tattabodhini
Sabha?

(A) Debendranath Tagore
(B) Rammohon Roy

(C) Keshabchandra Sen
(D) Iswarchandra Vidyasagar

119. Highest Tobacco producingstateinIndia—
(A) Bihar
(B) Andhra Pradesh
(C) Uttar Pradesh
(D) Tamil Nadu

120. In a knock-out tournament— 1i.e., a
tournament in which the winner in any match
moves to the next round and the loser gets
eliminated—there are 22 participants. Then the
total number of matches to be played 1s

(A) 20
(B) 21
(L) 22

(D) Depends on the way the fixture is
prepared

121. Indian Constitution was prepared by
tA) Mohandas Karamchand Gandhi
(B) Jawahar Lal Nehru
(C) Dr. B. R. Ambedkar
(D) Sardar Ballav Bhai Patel

122. Plants receive nutrients from
~(A) atmosphere
(B) chlorophyll
(C) soil
(D) light
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123. Superconductors are substances which

(A) conduct electricity at
temperature.

lower

(B) offer high resistance to the flow of
current.

(C) offer no resistance to the flow of
current.

(D) conduct electricity at high
temperature.

124. Speed of sound is the maximum in
(A) vaccum
(B) gases
(C) liquids
(D) solids -

125. Choose the two correct numbers in the
‘e’ marked places of the multiplication below.
e 7 o 9
X 5
339435
(A) 8,4
(B) 6,8
(C) 4,8
(D) 8,6

126. Who was the first editor of the Amrita
Bazar Patrika?

(A) Sambhuchandra Mukhopadhyay
(B) Sisir Kumar Ghosh

(C) Girish Chandra Ghosh

(D) Robert Knight

121, When the Hindu College was founded?

(A) 1800 A.D.
(B) 1817 A.D.
(C) 1855 A.D.
(D) 1857 A.D.
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128. Inarow ‘A’ isinthe 11th position from the
left and ‘B’ is in the 10th position from the right, If
‘A’ and ‘B’ interchange, then ‘A’ becomes 18th
from the left. How many persons are there in the
row other than ‘A’ and ‘B"?

(A) 27
(B) 26
(C) 25
(D) 24

129. The four principles of ‘FACT Check
Module’ are

(A) Follow, assimilate, control and
terminate

(B) Find, assess, create and target
(C) Follow, assess, control and terminate
(D) Find, assess, caution and train

130. Arundhoti Swarna Yojana by Assam Govt.
starting from 1st January 2020 aims to

(A) encourage grooms
Assamese brides.

to marry

(B) encourage brides to register their
marriage.

(C) encourage brides to buy gold.

(D) encourage families to marry off their
girl child after 18 years of age.

131. The Chairperson of Rajya Sabha is
(A) President of India
(B) Vice President of India
(C) Prime Minister of India
(D) Home Minister of India

132. Who led the Bardoli Movement?
(A) Vallabhbhai Patel
(B) Mahatma Gandhi
(C) Chamanlal
(D) Raja Gopalachari
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133. Thelconof GoldenJubilee Award by IFFA,
1019, was conferred on the actor

(A) Jaya Bhadun

(B) Amitabh Bachchan
(C) Rajnikanth

(D) Jeetendra

134. Fill in the number grid with the numbers
listed. Which of the numbers won’t fit?

137, 173, 301, 731, 770

(A) 137

(B) 173

(C) 301

(D) 731
135. Under whose Governor Generalship the
Railways were introduced in India?

(A) Lord Wellesley
(B) Lord Comwallis
(C) Lord Canning

(D) Lord Dalhousie

136. Consider the following statements with
eference to the National Hydrology project.

l. It was launched in 2016 with the assistance
of World Bank.

2. It provides for establishment of National
Water Informatics Centre (NWIC).

3. Its objective is to improve the extent, quality
and accessibility of water resources

information.

M of the statements given above is/are correct?
(A) 1and 2 only
(B) 2 and 3 only
(C) 1,2and 3
(D) None of the above

BPC/20

133. * IFFA’ 9 ‘Golden Jubilee’ fic@i#f, 2019

S v« < 3@ R
(A) T3 egel
/(ﬁuﬁww
(C) TGATE
(D) ferem 4
134. Ava =S AT MU IBw = =
T | (I R 2 TAYS a2

137, 173, 301, 731, 770

(A) 137

(B) 173

(C) 301

(D) 731
135. & Sfe+a (TAIEE WA ST
@FAATLT o1 T2

(A) &6 STETT

(B) &6 F+aqifer

(C) &1 Ffag

}yﬁéwﬁﬂﬁﬁ’f

136. GGy A reference FR fHERE
fagfeala el T ¢
1. @ft RITEa HYTS 2016 AT Hie] LA |
2. it GIE TEACUEH ZAFE (I TR | 2
3. St o ST S i, wdsie Wi
| G GfSsarel THie &1
ot [Rfesla Ty @R/ @mef Aliwe
(A) (FIETT | 9332
(B) (FIETI 2 92 3
(C) 1,293

(D) TR @GR 7w

please Turn Qver




BPC/20

137. According to Indian Constitution, the State
Legislatures elect the

(A) Members of Lok Sabha
(B) Members of Rajya Sabha

(C) Chief Justice of High Court of the
state |

(D) Attorney General of India

138. Which of the following is the first beach in
Asia to get Blue-Flag certification?

(A) Arambol beach, Goa

(B) Chandrabhaga beach, Odisha
(C) Chiwla beach, Maharashtra
(D) None of the above

139. Inflation in India is
(A) Double-digit >0
(B) Single-digit>0
(C) Negative
(D) Zero

140. Radiocarbon dating technique is used to
estimate the age of

(A) rocks

(B) monuments
(C) soil

(D) fossils

141. The greenhouse gas that is a product of the
combustion of fossil fuels 1s

(A) CO,
(B) CH,
(C) O;

(D) N;O
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142. Through which Educational Report Calcutta
University came into existence?

(A) Macaulay’s Minute
(B) Hunter Commission
(C) Charter Act

(D) Wood’s Despatch

143. ISRO launched Cartosat-3 recently from
(A) Srihankota
(B) Baleswar
(C) Ahmedabad
(D) Trombay

144. Who founded the Forward Bloc?
(A) Subhaschandra Bose
(B) Rasbehan Bose
(C) Jadugopal Mukhopadhyay
(D) Hemchandra Ghosh

145. Which ofthe followingis acorrect statement
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about Indus Valley civilization?

(A) Both Harappa and Mohenjodaro are
located on the banks of river Ravi

(Irabat).

(B) Both Chanhudaro and Kalibangan
were located within the boundaries of

present day Rajasthan.

(C) Both Surkotada and Dholavira are
locatedin the Kutchhregion of Gujarat.

(D) Lothal site was located on the bank of .
Narmada niver.

146. Who was the Governor General during the 146. ASMIZ AN iRm0 593 (@ STod (G
AMnulment of ‘Sati’? fete e

(A) Lord Bentinck /@‘é co%

(B) Lord Hastings (B) &6 &5
(C) Lord Dalhousie (C) =76 Tt
(D) Lord Canning (D) &6 IfAg
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147. Who planted the ‘Tree of Liberty at
Seringapatnam?

(A) Hyder Al;

(B) Tipu Sultan

(C) Chin Qulich Khan
(D) Murshid Quli Khan

148. What was the date of
proclamation”?

(A) Ist November, 1858
(B) 10th May, 1857

(C) 29th March, 1857
(D) 11th February, 18360

“Queens’

149. The Contribution of Service Sector in
India’s GDP is

(A) 62%
(B) 50%
(C) 42%
(D) 23%

150. In reference to Mughal penod’s revenue
collection system, ‘Zabti’ means

(A) Estimate

(B) Yield per unit area

(C) Based on yield of crops
(D) 1/3 rd of total yield

151. Considerthe following statementsregarding
‘Queen Pineapple’.

1. Itis the state fruit of Nagaland.

2. Ithadreceived Geographical Indication (GI)
tag in 2015.

Whichof the statements given above 1s/are Correct?
(A) 1 only
(B) 2 only
(C) Both 1 and 2
(D) None of the above
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147. STHAGE FETSE T Z943 arzp.

)A)/I & Are=d, 1858
(B) 1030&1 1857

(C) 29¢ 76, 1857
(D) 112 Fardl, 1860

149. ST o SeAMm Afamed! (Seniz
CFLAd M 2
AK) 62 *oigd

(B) 50 *rsig=

(C) 42 *Sigx

(D) 23 *Sio

150. 391 JUoNF AER FRAZ AL THE

IR
(A) At
(B) 2 cirdin QT BeAWTT AT
(C) =137 Te2AMETa D {3l
(D) G BerimTa GG

151. ‘Quecen Pincapple’ T ﬁ"f’:‘ir}@
ﬁt%_ﬂ TPl ¢

. 9% AAETITES AT T |
2. 620153 SR LA (G UTIC
S Frafoafa T @D/ @maf i
(A) @313 |
(B) caqerud 2
ACY | @7 2 TR

(D) ©siragq @102,




B-31

152. Who founded Indian Women’s University?
(A) Sir Sayyid Ahmed Khan
(B) Dhondo Keshab Karve
(C) Sir William Hunter
(D) Sir Ashutosh Mukhopadhyay

153. DEFCOM is jointly organised by
(A) Indian Defence Forces and L.I.T.s
(B) Indian Defence Forces and I.1.Sc

(C) Corps of signals and confederation of
Indian Industry (C.1.1.)

(D) Armed Forces and Ministry of
Information

154. Find the odd one out:
(A) 27
(B) 64
(C) 81
(D) 125

155. Which can bind O, molecules?
(A) Red blood cells
(B) White blood cells
(C) Vitamin B,
(D) Vitamin E

156. PCMA (2006) is the abbreviated version of
(A) Prohibition of Child Marriage Act
(B) Parent-Child Maintenance Act
(C) Pollution Control and Monitoring Act
(D) Parental Care and Maintenance Act
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152. @30 e Tm 3B afev sraferey 2
(A) A GV SIgaw 41
(B) 4T™! @R IS
(C) ST OZ[erals oI
(D) T SIRTSH JCAAIIIT

153. ‘DEFCOM’ Zeitd AfBE T
(A) Indian Defence Forces and L.I.T.s

(B) Indian Defence Forces and I.1.Sc

(C) Corps of signals and confederation of
Indian Industry (C.I.1.)

(D) Armed Forces and Ministry of
Information

154. 6T @0 MW (AT AWM ?
(A) 27
(B) 64

_AC) 8l

(D) 125

155. (& SHEH QYT S[a FACS A ?
(A) & IGHAH
(B) AW TG
(C) oI B,
(D) oI E

156. PCMA (2006) *ie*t 271 5ol
(A) Prohibition of Child Marriage Act
(B) Parent-Child Maintenance Act
(C) Pollution Control and Monitoring Act
(D) Parental Care and Maintenance Act
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157. The speed of an ant is 75 cm/sec. The ant

travels in a day 1s
(A) 64800 m/day
(B) 648000 m/day
(C) 648000 cm/day~
(D) 64800000 cm/day

158. Who was the founder of the Jam{a Milia
[slamia?

" (A) Dr. Zakir Hussain
(B) Muhammad Ali
(C) Saukat Ali
(D) Agha Khan

159. If you were running a race and you passed

the person in 2nd place, what place would you be
in now? |

(A) st
(B) 2nd
(C) 3rd

(D) Cannot be determined from the given
information

160. Select from the following rice-producing
districts in West Bengal 1n ascending order:

(A) Medinipur, East Barddhaman,
Murshidabad

(B) Murshidabad, Medinipur, East
Barddhaman

(C) Bankura,
Barddhaman
(D) Bankura, Murshidabad, Medinipur

Murshidabad, East

161. In which year Salt Satyagraha took place?
(A) 1929
(B) 1930
(C) 1931
(D) 1932
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157. << PARRIEAEZE 75 cm/sec. |#7fTas
G @ G oG I3

(A) 64800 m/day

(B) 648000 m/day
(C) 648000 cm/day
(D) 64800000 cm/day

158, Gifim fferm Tmfma afewre! & fama s
r(A) GE@%WD&
(B) T el ¢
(C) FIT® Sl
(D) st < 7

159. 3 gf ot Gire aiferaiféers (28 7w
ASNE Sfods FF WG, O 944 G &9
I TR 2 |

(D) (T © (YT b Tl AT 7Y

160. SRR & AfFewaena WEFRS 5
AR (el [ on e 3

(A) g, o 3, qFfram >~
(B) Iffram, GifaAiefg, A{d 3¢ O
(C) drpet, JFfram, o <A

(D) e, M, felofd

161, 739 AR’ (I AT W ?
(A) 1929
/B’f 1930
(C) 1931
(D) 1932 ~




162. The Cabinet Mission came to India in the
yeur

(A) 1946

(B) 1945

(C) 1942

(D) 1940

163. ‘Chancellor’ of the State-run Universities
in West Bengal 1s

(A) Governor of the State

(B) Chief Minister of the State

(C) Education Minister of the State

(D) Chief Justice of Calcutta High Court

164. Which of the followings clearly define
‘Mitakshara’?

(A) A work on astronomy.

(B) A treatise on ancient hindu law of
inheritance.

(C) A text on agriculture.
(D) A compendium on medicine.

165. The absorption of ink by blotting paper
Involves

(A) viscosity of ink
(B) capillary action
(C) diffusion of ink
(D) siphon action

166. The commanderof Alauddin Khilji’s forces
during his Deccan campaigns was

(A) Ainul Mulk Multani
(B) Nusrat Khan
(C) Malik Kafur
(D) Ulugh Khan
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162. FHRE6 fvE @9 A Ok S ¢

AT 1946
(B) 1945
(C) 1942
(D) 1940

163. “iF*ca3% A5 R vffe ifmraasfe
51’ (Chancellor) 2
T _AY ISR AeE
(B) AT Al
(C) ey Mg
(D) TS QERMHA daiv [praife

164. 5 3o Wb Trersar IIZF g45e R
pokck:
(A) cifefdeats =g
(B) &bl 2 Teaifaza iz eA7 =i
C)L
(C) IR I27a ¢si TS oy
(D) Fofeefaem A o)

165. CIITT G @IF1 I IR T4 &
_K) <ifera Al
(B) % (capillary) f&1
(C) e ST (diffusion) &
(D) 3% (siphon) f&m
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167. When the first Independence Day was
celebrated in India?

(A) 26th January, 1930
(B) 2nd January, 1930
(C) 31st October, 1929
(D) 8th December, 1930

168. Which city is located along Mula-Mutha
River from the following?

(A) Nagpur
(B) Punc

(C) Dehradun
(D) Bengaluru

169. Going 50m to the south of her house,
Radhika turns left and goes another 20m. Then
turning to the north, she goes 30m and then starts |
walking to her house. In which direction is she
walking now? |

(A) North
(B) South East -

/Efi)/NOI'th West

(D) West

170. Natural radioactivity was discovered by
(A) Marie Curie
(B) Emest Rutherford
(C) Henri Becquerel
(D) Enrico Fermi

171. Whoiscalled the ‘Fatherof Indian National
Congress’?

(A) Mahatma Gandhi

(B) A.O. Hume

(C) Lokmanya Tilak

(D) Surendra Nath Banerjec
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167. (3 SRS AL FILTl e lifere Tafs,

AT 2604 SIS, 1930 51
(B) 23t Sieparat, 1930 {1
(C) 31¢4 S[CPIRS, 1929 17610
(D) 82 Torr=a, 1930 RFGI

168. FaElR® @W *zal E-A W €
GOk

(A) =517

(B) 7t

(C) =AM

(D) <jrereyee

169. e ©iF ATF wHreed 50m IWSAM 79
3T g5 932 20m (57 | o1 Oed s 9 30m
(91 933 ©I9E A e Z60S oF e | 94 (A
I it 200z ?

(A) &

(B) wirel-=ig
€] Tag-oAtee

(D) ~if*e

170. diFfed (eafmrel wifawe s
(A) G 3
(B) TGO IMRCEG
(C) & @iEa
(D) @i i

171. SIACITIORTILFE TE G ISz
I T2

(A) T SiifE

_AB) «. q. Roy
(C) g o
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172. In which of the following years Akbar built 172. 237 oAl Tl @9 (@ A 2
?
Ibadgtkhana. (A) 1575 3351
(A) 1575 A.D. (B) 1568 f3=51t37
(B) 1563 A.D. (C) 1571 51z
(C) 1571 A.D.
D) 1562 {35510
(D) 1562 A.D. (D)

173. Who started the first English Newspaper in 173. SIA0S Y9 23T SIFy F@m2d & bieg

India? AN ?
(A) Bal Gangadhar Tilak (A) IS 4T S5
(B) Raja Rammohan Roy (B) IS ML A
(C) J. A. Hickey | 6 (C) 5.9 B —
(D) Lord William Bentinck (D) =€ SR R
174. Which one is a fertilizer? 174. @0 90 g2
(A) N (A) FRGITEA
(B) O, (B) wf3ite
(C) Py m
(D) NaNO; (D) CHifeam iEge

175. In the logo of Lokpal, vigilance is 175. ‘Lokpal’ @9 ‘Logo’ (O ool Hize itz

represented by (A) fea=
(A) Tricolor (B) IS 5T
(B) Ashoke Chakra _(© RpiEd @% O
(C) Judges bench (D) 7S

(D) Two hands

176. Last Census of Indian Population was held 176. 3{0*1@ Census of Indian Population (S

In the year | TR
(A) 1991 | (A) 1991
(B) 2001 (B) 2001
(C) 2011 _L€) 2011
(D) 2019 (D) 2019
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177. ‘Gangani’ region of West Bengal has which

type of soil?
(A) Alluvial Soil
(B) Saline Soil
(C) Laterite Soil
(D) Terai Soil

178. ‘Farmers suicide’ in India is viewed as an
outcome of

(A) Agricultural Distress
(B) Industrial Stagnation

(C) Climate Change and Natural Disaster
(D) Green Revolution

179. Whichregionis called the granary of South
India?

(A) Madras

(B) Thanjavur

(C) Kanyakuman
(D) Coromondal coast

180. Kakrapar Atomic Centre is located near
which city in India?

(A) Kota

(B) Kalpakkam
(C) Surat

(D) Mumbai

181, Kabuliyat and Patta as instruments of-
settlement were introduced by

(A) Sher Shah

(B) Ghiyasuddin Mahmud Shah
(C) Bahlul Khan Lodi

(D) Humayun
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177. /RSN ‘TR T @ & T
AR

(A) dfF T O
(B) #RIIE Wb
(C) FIHRIRO Mo
(D) &R W

178, SRS AT WAL AHI @IFLE 2R
RE@ oz

(B) FET®caa Stagnation 31 SAISTE ¥

(C) Ty “ifdada ¢ aAgfe e
(D) @ Rea 7~

179. (FIF AT WY SIS =i T ¢
(A) WTie
_(B) UGG ©
(C) T=urT=ial
(D) TANGT CATE

180. FIFAIAT ARTIRETH IO (I L




182. Hydrogen bomb is based on
(A) nuclear fission

/(B’;/nuclear fusion

~ (C) natural radioactivity
(D) artificial radioactivity reactions

183. Who was Birjis Kader?

(A) The Nizam of Hyderabad
(B) The Nawab of Oudh

(C) The Mughal Emperor
(D) The Nawab of Bengal

184. The first Indian to receive Nobel Prize in
Economics is

(A) Professor Abhijit Vinayak Banerjee
(B) Professor Amartya Kumar Sen
(C) Professor V. K. R.V. Rao

(D) Professor T. N. Srinivasan

185. Port Blair is located on which island?
(A) The Little Andaman
(B) The Great Nicobar
(C) The South Andaman
(D) The North Andaman

13_6- Head Count Ratio (HCR) is widely used in
India as a measure of

(A) Poverty
(B) Inequality
(C) Income
(D) Population
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182. JImite" @ @W R[RfTwm fefers ofa
TP

(A) i foww A
_ABY AReEE wEres A

(C) AFfeT (Taizwet

(D) Flaw (ewipare Riwm

183. RF&H THa (& w2
(A) IURITTE e
(B) STIGIZ 714
(C) <= 7o
(D) AR TR

184. 297 Ty R wd@ifere @iRa @R
CoATATZA ~

T (A) SR SR Rare Wi
ABY Qo ] T G
(C) Tupielz fo. . =ma. fS. 21
(D) =igpes 6. «a. SifFarse

185. (oAb @IIF (@4 Qe wafe ¢
(A) RGN~
(B) 3z& ftaaa-a
(C) vl S~

186. Head Count Ratio (HCR) SRS TSI

RS T AIBA [FADT AR B ?
(A) wife]
(B) SN
C) TI@ A
(D) T«
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187. The river on whlch Tilpara Barrage is
located?

(A) Damodar
(B) Kangsabati
(C) Silabati
(D) Mayurakshi

188. The number in each circle in the number
pyramid is the sum of the two numbers just below
it. Few of the numbers in a number pyramid are
filled in. Find the number in the position marked

Hrl)'"

16)(_)(13
00.0
(A) 4
(B) 5
(C) 6
(D) 7

189. Excess fluoride in drinking water causes
(A) Lung disease
(B) Intestinal infection
(C) Fluorosis
(D) Rickets

190. Six persons are seated around a hexagonal
table. Anupis seated opposite Belal, whois between
Chirag and Derek. Anupisbetween Ela and Farook.

Ela is to the left of Derek. Which of the following
pairs is facing each other?

(A) Ela and Farook
(B) Derek and Ela
(C) Chirag and Ela
(D) Chirag and Derek
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187. f&a9rT! PET @ TIT 89T SIZE T 2z
(A) WM
(B) TS

(C) e
/mwﬁ

188. 4y foraifice afeld qres sy e %<
ﬁ@wﬁmmﬂcmﬂmzﬁamw
A | ForafaTs st At ored s | 7" ffEe
A A T© 2

™

16)( (3
OO
o
(A) 4
(B) 5
(C) 6
(D) 7

189. NI GTe FARITA WA T B

(A) TAFET QI
(B) SI0HI AT

AC) TG
(D) A6

190. 9o TogEIFS Gftem i wem T
01 IR | S, (FEea Redies »3g @4, o
S (CTATHFS T 0T 0L | g, Ze1 '8 WIS W
T TR | WRIT 25 (SLEEA IS ICT SR
©I, AT W& (@1 (Sl qrrgfl I Sge

(A) %6 TIFD
(B) (CE< 8 24l
(C) foatst @ T
(D) ol 8 wrzw




191. The distinct letters of the word
EXTRAORDINARY are arranged in alphabetic

order. Then the letter in the fifth position from left
IS

(A) N
(B) O
(C) 1
(D) A

192. The gas that filled the electric bulb is
(A) nitrogen
(B) hydrogen
(C) carbon dioxide
(D) oxygen

193. What was meant by ‘Kherwari Hul’?
(A) Chuar movement
(B) Paik revolt
(C) Santhal movement
(D) Indigo revolt

194. The sum of all the internal angles of a
hexagon is

(A) 720°
(B) 360°
(C) 180°
(D) 600°

195, Unemployment in India is concentrated in
(A) Organised Sector
(B) Unorganised Sector

(C) Both Organised and Unorganised
Sectors

(D) Foreign Trade Sector
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191. ‘EXTRAORDINARY’ *{07 SrFaoiens

alphabetic order—4q AN AT AT (AT AL
(I orFao 3E? |

) N
(B) O
(O I
(D) A

192. (AGios IATE (T P& A AE —
(A) TRGEICEH
(B) QR(GIEH
(C) FA TS
(D) SIfscE . -

193. ‘(RA2CTA =1’ IATS F Q@RITS! 2
(A) pATG RRearg
(B) #RR% Rz
(C) Alew [kmarg
(D) S&faiR

194, 90 TTQIEI A STSTE N I (TSTe
LG

(A) 720°
(B) 360°

_AC) 180° 0
(D) 600°

195, SRS ([IAY TGS TR ST
(A) Heifde CFa
(B) w1 ova
(C) W4T e s zsifde vy
(D) Rii*a arfden ot
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196. What comes nextin the sequence 1,3,7,15, 196. 1, 3,7, 15,31, 63, ﬂ?mm
31, 63, 7 AN (B RYT ALY

(A) 127 M7

(B) 125 (B) 125

(C) 121 (C) 121

(D) 129 | (D) 129
197. What number should come next in the 197. 6, 18,7'2, 360;2160,; O3 G EI
sequence 6, 18, 72, 360, 2160, ? SIS e T2 R 2

(A) 12120 (A) 12120

(B) 13120 (B) 13120

(C) 14120 (C) 14120

(D) 15120 /em’15120

198. TV remote control uses 198. .fS. b srgia @ @T@ﬂtﬂﬁ‘i LI LS,
(A) Infrared frequency ©l 257
(B) Radio frequency (A) T e
(C) Visible frequency (B) @foe Tt o
(D) Ultraviolet frequency (C) ww

(D) wferaef -

199. The difference between GDP at market 199, Tl Tesiva AT wWig Qa2 Gy ©eai

prices and GDP at factor cost 1s T4 Roaa oors ==
(A) Direct Taxes

3 ndivegt'T (A) 2q97F 7
es
ECi '1il lret? T ments (3) Rerer®
ransfer
- P (C) G (Transfer) (070
(D) Subsidies
- (D) ©gfs I
200. L.P.G. is a mixture of 200. L.P.G.-a3 e M

(A) methane and butane

(A) s 932 [ASE
(B) (oiteiw w32 Ao

(C) = 932 (Ao
(D) Fw 9z f[FEm

(B) propane and butane
(C) ethane and propane
(D) ethane and butane






